Tsys

Tsys

Tsys

2.5

2.0

0.9

0.8

2.5

2.0

25nov09 alfa Tp

drift at meridian. src: J2052+365 alfaAngle=+60

T
| BM_O Overplot wapp and pdev data |
- BM_1 Expected source position B
7\ 1 1 P S T T S T T T TS TS T TS S M Y \7
0 10 20 30 40 50 60
time [secs solar] from start of wapp scan
src: J2109+355 alfaAng=—-060
ET L L A L L —
; I = ﬁg
g\ 1 | S T T S T T S [ TS T N T TS R M Y g
0 10 20 30 40 50 60
time [secs solar] from start of wapp scan
src: J2150+050 alfaAng=—-60
T L L L R L
7\ 1 | S T T S T T T [ T T A T TS S M Y \7
0 10 20 30 40 50 60

time [secs solar] from start of wapp scan



Tsys

Tsys

25nov09 alfa wapp,mock TP vs Ra. AlfaAngle=+60. src:J2052+36
25 T T T ‘ T T T ‘ T T T T ‘ T T T T ‘ T T T T ‘ T T T T ‘ T T T T
+ Wapp data  BM_O i
¢ Mock data |
2.0 -
1.5 -
1.0
1 1 ‘ 1 1 1 ‘ 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1
20.880 20.885 20.890 20.895 20.900 20.905
ra [Hr]
Used —60 AlfaAngle for mock positions
25 ‘ T T T ‘ T T T ‘ T T T T ‘ T T T T ‘ T T T
1 1 ‘ 1 1 1 ‘ 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1
20.880 20.885 20.890 20.895 20.900 20.905

ra [Hr]



Tsys

Tsys

25nov09 alfa wapp,mock TP vs Ra. AlfaAngle=—060. src:J2109+355
W5 T T T T T T T ‘ T T 1T T T T 11 ‘ T T 1T 1T 1T T 11 ‘ 1T T T T T T 1T ‘ T T T T T T T T

T Wapp data  BM_O
¢ Mock data BM_1

BM_4

0.9

0.8
21.

o~
N
o r
N
(0]
N
~J
N
o

21.19
ra [Hr]

Used +60 AlfaAngle for

mock positions
‘ T T T 1 T T 1 ‘ T T 1 T T

o

0.9

0.8
21.

4 21.15 21.16 2117 21.18 21.19

N
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J2052+365 (Wapp — Mock) position after mock rotation fixed
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